n"ywn IR 7" 702

o7P2 ('2 7YIR) 2% N2

(83218) 710737 2997239R 2%1an
2%p 101 '9179 ;XN

DX DPNYW TPTAT TYD
TR 10 70w "2 w0y mTp 15 0w N 9200 70N D32 .mNwT 5 Ty 4 5y nuyo N2
7253 3wy (W M MY W
1775372
1 7oRw

-1o(x) = a nPpn ondw oMY T X, Y € G VI DPVIMP 72N G N X
0(x *y) =ab o”pnn 2.0 a, b wrd o(y) =b

AR 7IV07 Y172 772077 0279y ,12I13) NN XY 'K Y0 NIYD 72 7110 XRATun .2
(D731 RRNT DMARY X, Y ORI AT DWION XAMNT NNY B9 NP

2 T9Rw

937 23 .|G / Hl = M 0™PNR °d °11.7%W ORI AN nn H oM aMan G an- .
grtEHDpPMMgEG

PR 7IV0T Y1 772077 09 ,12300) Rpn XY 'K APY0 NIV 72 710an X7 N 2
(.MP733 RONT DMTAY g 2R H 77200 DNS DWMon M7 NNY 87921 nevpnn

3 ToRW
Zy MM 07K a R ,ged(a,n) > 1 o800 .a < n-w 5 0°¥av a,n P X

o»pnm deg(p(x)) < deg(q(x)) -w 75 F m1wn Hyn oomrm p(x), q(x) ¥ .2
Flx
, | ]/< g(x) > 7 n2 7007 [p(x)] Apbnnan 03 .gcd(p(x),q(x)) =1
Fx] oomrnon ana g(x) owrnoi 0"y x31 HR7TRT R < g (x) > R

4 aoxw

7°2077% 02°HY ,]2M2) ST 77 2PDMAIR OPRW DPDI01K D°°2VLIAP DN WD XANT WD K
N{apeomilabinh Gahi FalgigmiizRatbl iy Biak{a

S92 1T D9TMIMIPR DIPRW 0°12°K 19072 MR QY 07010 010YINP 2PN CIWH RPNT AN .2
(D971I°R DR QNN Q2T T 9°207% 02°%Y ,12172)

5 ToRw

99 ,91172 .¥12°7 3% 1T 7W2 020K 92 90 w17 .00k 2™ av o0 77w ,Fon -2 1M X
YP=x-WPyEFmDpx € Fyn

2¥12°7 K17 92K 95 12 (2 QW PRI RIT OTPI2OR D0RW MTWS ¥7D) AOI "D10 ATV 2P AR .2



